Day 5.notebook

4-4 HW Answer Key

4 x74=i«bz—4u:
Tz

2. b*-4ac

3. 2 complex solutions

4. 1 real solution

5. 2 real solutions

6. discriminant = -324; 2 complex solutions; x = 19i
7. diseriminant = -104; 2 complex solutions; x = gi%
8. discriminant = 16; 2 real solutions; x = 3, -1

9. diseriminant = 0: 1 real solution: x = 2

2 i/

10. discriminant = -56; 2 complex solutions; x = 5510
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Review

1. Find each of the following sums and dif ferences.

a) (-2+7i)+ (6 +20) b) (8 + 4i) + (12 - i)

&) (5+30) - (2- 71) d)(-3+50) - (-8+2i)

Algebra 2 Unit 4 Day 5

2. Find the following products. Write each of your answers as a complex number in the form a+bi.

Q) 3es)(7e2) L ¢ —(

iy &G(#%SS
-0

b) (-2 6i)(3 - 2i)
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€) (4+1)(-5 - 3i)
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. What is the discriminant? b -4ac
.
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Alg 2 Homework 4-4
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Write the quadratic formula:

Py
y J, e
. If discrininant is positive, what kind of solutions do you have> o0 / €/ ¢/
For 6 - 10 do the following:

1. Compute the value of the discriminant of the quadratic equation.
2. Use the value of the discriminant fo predict the number and type of solutions.
3. Find all real and complex solutions.

7.3 -4x+10=0
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[~ Day D Review Answer Rey
1 a)4+9i b)20 + 3 ¢)3+10i d)5+3i
2.a)11+41 b)6 +22i ) -17-17i
3. 26, which is a real number
4. 13i, which is an imaginary number
5. a) 20i b)8 €)8+20i
6. i; o1
7. i*=1and jSwmuitofd = f go janyRower=j -1 i or1
8. -1-i1i -1 13. 1518 22. See diagram in slide
9. i 14, -42 23.x=6.y=9
10. 10i 15. -2./30 24, Discriminant = -80
11.-12i 16. -3i/10 Answer = {7%175}
12. 4i /5 17. -19
18. 30-4i
19. -6+ 29i
20. 51 +18i
21 x*+ 25

Sep 1-1:48 PM

4. Showth

a) Pure i

Sep 1-1:48 PM

3. Show that the preduct of (2+3i) and (4-6i) results in a purely real number.

5. Give an example of each number:

b) Pure real

¢) Complex (not pure imaginary or pure real)

at the preduct of (2+3i) and (3+2i) results in a purely imaginary number.

maginary.

Aug 3-11:18 AM
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6. Theimaginary number_____isequalto . Simplify:
7. Explainthe 'cycle' of i. 1o, 7100 -
1. -J-144 =
8. What are the values of: i? = P= it= P= = 12. /80 =
9. How doyou simplify 4= 18 5/64=
14, 4536
@ﬁ.m: W] 'L'qu : l.z\l 120
16. —~—18+-/B=
17. (J-19)=

Aug 3-11:18 AM Aug 3-11:19 AM

Add or subtract the following complex numbers. 22. Plot and label a complex number in each quadrant and on both axes on the graph below. Be sure to

label th 3
18. (22+7i)+(8- 11i)= label the axes:

19. (2+160) - (8-13i) =

Multiply the following complex numbers.

20. (3+4)(9-6i) = 21 (x+ Bi)(x-5i) =

Aug 3-11:19 AM Aug 3-11:19 AM

Review Algebra 2 Unit 4 Day 5

1._Find each of the following sums and differences.

Q) (2+7)+(6+2) = LH—QL D)8 +4)+12-0) = () +3L

23. Find the real values of x andy if 11x + 8yi= 66 + 72i. X<

Iz : CC 35 1 )2 Y

aGea-e-m= 310U aeass)-caray=S513]

2. Find the following products. Write each of your answers as a complex number in the form atbi.

24. Compute the value of the discriminant of the quadratic equation,and then solve using the
a) (3+5i)7 +2) b) (-2 + 6i)(3 - 21) ) (4+0)-5 - 3)

=DM LSO == HHE - = ~a0-/ai 6L -30°
8xrdx+3:-0 Discriminant = al+HL-\0 = 492l = ~20~/7L13
Hei, = (o7 I = 7=t
3. Show that the product of (2+3i) and (4-6i) results in a purely real number.
(2430 Ytoi) = B-Jac t/aiHdl
= 948

quadratic formula,

= 1

Answer

= olp =3 Qe 3
4. Show that the product of (2+31) and (3+2i) results in a purely imaginary number.
(913)(3420) = o+ AT A1 >
=0HIL—0
=Bl — [mag.#
5. Give an example of enchD number:
o) Pure imaginary K200
b) Pure real Z ?’, 90[.

¢) Complex (not pure imaginary or pure real)

Aug 3-11:20 AM Aug 12-3:58 PM



Day 5.notebook

6. The imaginary number is equal o\~ e i
7. Explain the ‘cycle of i. L’; N /x/:/ ﬂ/’(j . -
A=y oy oy e )
Lo SO, G o
AR ) B 6 =f - or !
8. Whatare thevaluesof:fe =/ #s_—l =] pe [ - (L N

9. How do you simplify y-r2. W

sinpty
10, vi06 = _JOL
T N 21

oo Ll =4S

svsi - S b = J500G

N = T (V{1 L oIt 2

s e U5 o (R0 = i o2
6. e —AE S = ~WA0 = -9 ViD= 3o

7. 19y 19

=

Add or subtract the following complex numbers.
18 @2e7yee-mys_307HL

1. 2160 6-130:_—(0 1290
Multiply the following complex numbers.
20, aeans-60= 9T —I804 3¢ -2UL ")
= a1Hsi oY
=515l

21 (x+5i)x- 5= XQ’»;XL-rSXL’ LY
K9435
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22. Plot and label a complex number in each quadrant and on both axes on the graph below. Be sure fo

label the axes.
. L
gttt y

° .

043L
a4l

~L}+0UL X >(

23. Find the real values of x and y if 11x + Byi = 66 + 72i x=__ o

IM=bb  8y=7a .
o gfﬂ/ o q

24, Compute the value of the discriminant of the quadratic equation, and then solve using the
quadratic formula.

8+ 4x+320 discriminant_~ 80

buacs lo-u()(2) e JZ

T ~t) F 1S

Xz -4 f/»& */",';‘“

7 z
) L”JT < = :/f L,[f "

25. Solve the equation 2x° + 5x + 8 = 0. Express the answer in a + bi form.

b? - 4ac = 25 - 4(2)(8) x=2EV-39

2Q2)
-39 543
4
X:éi@i
4 4
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